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Low Achievement exemplar for 91400 2015 Total score 08 

Q 
Grade 

score 
Annotation 

1 N2 

Part (a) 

• Supernormal profit incorrectly labelled normal profit 

• Supernormal profit incorrectly shaded with no ‘white space’ 
visible between shading and MR=AR line 

• New MR’=AR’ line not labelled 

• Correct plotting of increased demand 

Part (b) 

• Correct identification of new market quantities in the short and 
long term after increased demand 

• No reference to or use of marginal analysis in part (b) negating 
this section.  

2 A3 

Part (a) 

• Correct graphing of profit maximising price and quantity 

Part (b) 

• Correct graphing of average cost pricing price and quantity 

• Identified average cost pricing would benefit consumers by 
increasing quantity of train rides available and tickets being ‘more 
affordable’ implying reduction of prices. 

• Correctly identifies KiwiRail’s profit will decrease, however, does 
not  give any detail required using decline from supernormal 
profit at PM pricing to normal profit at AC pricing or  no longer 
achieving profit maximisation at MC=MR. 

3 A3 

Part (a) 

• Correctly shows an increase in MC by moving it to the left and 
labelling correctly 

• Correct identification of new price and quantity 

Part (b) 

• Refers to but does not use marginal analysis 

Part (c) 

• Incorrectly draws the AC curve so that it does not turn on the MC 
curve 

• Correctly recognised the monopoly will have to shut down in the 
long term, however, does not recognise the difference between 
shutting down and leaving the industry. Does not identify shut 
down occurs at AC>AR or TC>TR, preventing this from moving 
to a merit response. 

• Correctly identifies the monopoly has strong barriers to entry but 
does not identify any such barriers, preventing this from moving 
to a merit response.  

• Recognises the monopoly operates at profit maximisation but 
does not use this to explain that is why price and quantity will 
remain unchanged.  The candidate also refers to PM as 
occurring at equilibrium. 



















  

High Achievement exemplar for 91400 2015 Total score 12 

Q 
Grade 

score 
Annotation 

1 A4 

Part (a) 

• Correct plotting of short- and long-term impact of increased 
demand 

• Correct identification of new market quantities in the short and 
long term after increased demand 

• Supernormal profit correctly labelled  

• Supernormal profit correctly shaded with ‘white space’ visible 
between shading and MR=AR 

• New MR=AR line inadequately labelled 
 
Part (b) 

• Correctly identifies the change in short-run profit to a 
supernormal profit and uses marginal analysis to explain the 
increase in output from Q to Q1 

• Correctly identifies the change in long-run profit from 
supernormal to a normal profit but does not use marginal 
analysis to explain the decrease in output from Q1 to Q. 

• Refers to both graphs 

2 A4 

Part (a) 

• Correct graphing of profit-maximising price and quantity 

• Correct graphing of average cost pricing price and quantity 

Part (b) 

• Identified average cost pricing would benefit consumers by 
increasing quantity of train rides available and tickets being 
‘cheaper’ implying reduction of prices. 

• Refers to increase in consumer surplus but does not explain the 
increase in quantity nor how the change in price leads to an 
increase in consumer surplus needed as evidence for a Merit 
grade 

• Does not recognise the change in profit from profit-maximisation 
or supernormal profit, to a normal profit. 

• Correctly identifies the smaller DWL as evidence for the 
monopoly now being more allocatively efficient but does not 
recognise a larger net surplus as needed as evidence for a Merit 
grade. 

  



  

3 A4 

Part (a) 

• Correctly moves the MC to the left and draws the resulting 
reduced quantity and increased price 

Part (b) 

• Did not use marginal analysis to explain the need to reduce 
quantity to avoid marginal losses as needed for Merit evidence, 

Part (c) 

• Correctly draws the AC curve above AR and turning on the MC 
curve 

• Correctly recognises the monopoly will have to shut down in the 
long term, does not identify shut down occurs at AC>AR or 
TC>TR, preventing this from moving to a Merit response. 

• Correctly identifies the monopoly has strong barriers to entry but 
does not identify any such barriers, preventing this from moving 
to a Merit response.  

• Recognises the monopoly operates at profit maximisation but 
does not use this to explain that is why price and quantity will 
remain unchanged.   
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